


ASEE" =HE
A AKX A

(=8 1993~ 1998)
(285 1990~ 1999)

o T4

LT U

A1Q12592

K@KFHWH



RRE T

SO AR T s E Wl e 0 E e LA 6 B
CL993 19980 " YTt 0 £ 0men - 1999 TR SRR T
i, Moy gL Al bl T doh AR BSE AE IR L TR B
N

B ANRER PR A M AT ERNFRANEEUMASEWE
B A FES

BEEMRBE (CIP) HIE

VERE T, M AR e AR/ R SR —
o, R AP ERRE. 1900 1002000, 1 @& BT
1SN 7 5618-1218-3

I N COPN A 2 oy Y
B N F31-44

FERAEBE CIP #HIEZFE (1999) 8 50598 &

&

NEAE R

# AL

FfEd LS 92 5 RN FEN MRS . 300072)
KT8, 022—37403647 MEEIER. 027 — 27402742
mitEBREMBET

HEEEXRE T

S30mm > 1168mm | /32

14. 123

368 F

1994 % 10 HE 1 K

W1 Az &

SO - 10000

19. 00 g

EE EE
&
-

oSS E gD EE
SEHFEFRNIE R



£ B
e
® &

mES L

K

(R EXHF)

e JRBAE
(A IR 2 20 A
A OF A
fAg KHHE
KOF RE%
ez S A -
£ ¥ M
wRE AR

30

A

iy &
M B
ik,

B



H X

E—#n REFL(ZHEREE

£ R FEME( 1993~ 1998)
1993 TR FLLL I - -vevvmrer e {(3)
BEOER eereeteteeerrerieiiiieeriiienii i (16)
BB OB ceeeeererreeeneeiniresseeciiiiai {17)
1004 Hogr BT ~oeeevrrr (29}
B M2 e e (42)
@ ﬁﬁ" ............................................................ {43)
1995 J_]_{'}.E_Lﬁ:@ ................................................ (55)
LM ceererrereiasrennr s (69)
L e T R TR R R L PR PERE SRRy (‘?0)
£G06 HE P IR RE - rrrrmr v (79)
FE S e (93)
BH f  vveerrereceeseinesietnieieie e e e {(93)
1997 B EEEE  coverer (102}
B B TCTTRIPTEV T VEREP IV (1[8)
GO eeeeeeeeeerinieenas e ra s (119)
1908 A FLIRBH orereerrrrnii (127)
- LT L LTI TR T REPRPP (144)
B T R PR P PP PR P P TP P PP TP PP PP P PITPPR {145)

F_fsy REER(ZR)IEATE

ERMEM (1990~ 1999)
1990 H A B RE rvrvrrrrvrrrir i (155)
b R R R R P L TR PP P P FRRREEY (I?D)
B L Y PR (171D



T D P P PR T R (198)
BE  fff -vorenrrere e et et e (199)
1992 4F B R c-emvrer i (211)
BB e (226}
ER B r-roveerrrearaisresaniei i it (227)
1993 fp{[\ﬁ E:gﬂ ............................................. (2_39)
b oo R Y PR RPN (254)
i T R P P TR T P F S PP PPN PN (256)
1904 AR RELTE  vrvvrirraime i (267}
j:;‘; % ............................................................ (284)
H BB et e e (285)
1995 @%EL&@ ............................................. (297)
B B e e (313)
B B e s et (3]5)
1996 L EHIRM e (326}
I T (342}
B OB v e e e e {344]
1997 L E I8 - (352)
LT (369)
BB f vv e et iaiaaiaiaes aiaeesierare e (371}
OO8 g LA e (379}
T T S PO (397)
Bi Bl vrrmr e e Ceiarr Eaedreia (398)
1990 R P IERT v {(407)
I T P {424)
3 e {426}
HR] RRHRFEEGELRI oo (439)
I XEHRREEESGZERRG o (443)

il



i
BB LR (%) S AR
022 ) B
(1993~ 1998)







1993 = 2 KA

Tianjin College English Test
Band 2
[T93 2A]

Part | Listening Comprechension{ 15 points,25 minutes )

Divections s In this part, wou will hear 15 short conversations. At
the end of each conversation , « question will be asked about what
was satd . The conversation and the question will be spoken two
Litmes . After euch question , there will be a pause . During the pause ,
zou must reud the four choices marked A, B, C and D, and decide
which is the best answer . Then mark the corresponding letter on the

Anywer Sheet with a single line through the center.

1. A. In the hospital B. At home
C. At work D). At school

2.ALAL9:30 B. At 1000
C.Acr9:00 D.At9:15

3. A It's better than it used 1 be.

B. It's not as good as it was.

C. It's better than people say.

D. I’s even worse than people sy
4. A May 5. B.May {7.

C.May 7. D.May 15.
5. A. The new teacher is sick.

B. She hasn't met the new teacher vet.

— 3 —_



6. A He'll read the book. B.Hc'l {inish the book.
C. He'll lend the book. D). He'll return the ook,
7.ALA taxi driver, B. A car salesman.
. A car repairman. 13, A bus dover.
8. A. She is alratd that she'l] bother them.
Ii. She thinks that his parents will be late.
. She thinks that his parents won't come.
). She thinks that his parents don’t want her to come.
9. A. She will work for her father.
B. She will take another tesr.
C. She will go to college.
D). She will choose another schoal.
10. A. Help the man. B.Go home,
C. Talk (o Mr William. D). Tvpe some ictters.
1AL Tt's difficulr. B. Tt's casy.
C. It's 100 shorr. D IS oo long.
12. AL A tour guide. B. A eustomer in a restaurant.
C. /A shop assistant. [D. A waiter in a hotel.
13. A. A bookstore. B. A classroon.
C. A laboratory. . A library.

C. There are six new tcachers.

. She didn't like English classes.

14. A She agrees with him.

13, She doesn’t agree with hin,
(. She advises hin to be more careful.

D. She suggests that he will be strict with his son.

15. A. She should be more careful with her books.

3. He will give her something 10 write on.
€. He thinks he knows who ook her notebook.
-



D). He does not mind if she borrows his notes.

Part I Reading Comprehension{<() points, 40 minutes)

Directions : There are four reading passages in this part . Each pas-
sage 15 followed by some questions or unfinished statemenis. For
euch of thent there ure four choices marked A, B, C and D. After
wou read a passage v should decide on the best choice for each ques-
tion or unfinished statement und then mark the corresponding letter

on the Answer Sheet with a single line through the center .

Questions 16 10 20 are based on the following passage:

Few animals hesides monkeys have hand-like paws. The mon-
key, ke man. has an opposable thumb——that is, it can place its
thumb opposite its other fingers. By pressing its first finger against
its thumb a monkey can pick up things as tiny as a flea( Bk % ). Be-
cause other animals lack this rhamib, it is difficult for them to pick up
small things and carry them

The monkey’s ability to grasp nce with 1ts paw often leads 10
its capture. Hunters put some rice inside a coconut(# T8 ) . leaving
a hole in the shell of the nut. The monkey has no trouble sliding it=
paw through the hole. But it can’t draw the paw ot while it is hold.
ing the rice with 1= paw.

Since it ix often too stupid or greedy 10 ouen 11 hand, the non -

key is unable o free fisell from this simple trop? B £5)

16. According 10 the passage,ow o mans annnas have
AL paws with fingers

B, pows with ttannbs



C. paws without fingers
D). paws without thimbs and fingers
17 An opposable thumb is & thumb that can ____ .
AL pick up things
I3, be place againsi the other fingers
C. press against the opposite thumb
. press against anything
18. A monkey can pick up small objects by pushing its thumb against
A. one of its {ingers . all its fingers
C.its paw D. the objects
19.Hunters can catch monkeys by a coconut trap because monkeys
A are too greedy for the coconut they have found
B. have trouble finding out the rice
C. usually keep their paws closed to hold the rice
D. like to eat rice but not the coconut )
20. The success or failure of a coconur trap depends on /_
A what kind of rice is in the coconut
B. how many holes are in the coconut shell
C. how large the coconut is

D. whether the monkey will give up the rice

Questions 21 to 25 are based on the following passage:

Doctors have known for a long time 1hat extremely loud noises
can cause hearing damage or loss. The noise ean Le the sound of a jet
airplane or machines in factories or loud music or other common
sounds found at homie and at work. A peon unls needs o hear the
notse far little more thar one second 1o be affected.

— 6



An American scientist has found that using aspirin( FY £ 7 # )
can increase the temporary ( ¥7 A () hearing loss or damage from
loud noises. He did an experiment, using a number of male students
at a university who all had normual hearing. He gave them different
amounts of aspirin for different periods of time, then he tested their
hearing ability. He found that the students whoe were given four
grams{ 7)) of aspirin a day for two days suffered much greater tem-
porary hearing loss than those who did not use aspirin. The hearing
loss than those who did not use aspirin. The hearing loss was about
two times as great,

The scientist said millions of persons in the United States use
much larger amounts of aspirin than were used in the study. He said
these persons face a serious danger of suffering hearing loss from

loud noises.

21, Doctors have long known _ .
A. the sound of a jet plane may damage or even destroy a
person’s hearing
B. hearing damage or loss can be caused by sounds of all kinds
(. a terribly loud noise can make a person deaf for some time or
all his life
D. common sounds at home are not harmful 1o the ear
22. This passage suggests that onc's hearing .
AL will be damaged even if he has heard a loud noise for less than
one second
B.owill be damaged cven if he has heard a iound noise for only lit-
the inore than one wevond
Clowill o be damiaged f e has heard a loud naise for only little

more than one sceond



I

24.

D.owill not be aamagea o dn s 21e o e than one seeond 10

get ready

. According 1o the passage .- conclusieon ol can draw s that as-

parin

AL should never be taken more than e arams dailv

-

3. can damage one'’s hearing when i . given niore than four
grams daibv

{" makes hearing damage {rom loud notse winse

D increases hearing loss by two times

Millions of Americans are in danger of suffering hearing loss be-

cause they

AL ofren take jet airplanes on trips

B. liked listening to ioud usic

C. heard a lot of loud noises a1 home and ae work

D. take too much aspirin

. The purpose of the experiment the American scientist did was to

find__

A. whether aspicin would increasc the temporary hearing damage
from loud noises

B. how much aspirin should be given to the person who had
hearing damage

C. whether the person who had hearing damage should use aspi-
rih

D. how much aspirin would affect o 1erson’t hearing

Questions 26 to 30 are based on the follovng passage:

Is your family interested in briving a dog? \ dog can be a hap-

py addition to your familv. but il vou choose the wrong kind of dog.

the conscquences can cause you a lot of touble.



Familics should sit dewn and discuwss the problene imvolved e
fore buving a dog. Even if the children i vor famils arve the ones
who want the dog, the parcros o e ones who are really respons -
bl(_‘ [OI’ .--l"l“iﬂg' lha[ Ih(_‘ A1 - [J('r]\. [ d :r(]r. Il_ WL (_iOIl-I kIlLJ“r‘\'
much abonir dogs 07s @ good e 1o e to the Dihrary or the ASPCA
for hooks about varions kinds of dogps.as wer s ooks about how 1o
train a puppy(/DA) . You showdd know v, 2 aog deserbed as very
afive or awake may be too exciied ana nervoos, YWnen o ook de-
seribes ¢ dog as an ideal hunting dog .1t orolede s mcans that the dog
won 1 be bappy bving in a small apartment. Dog breedsOM A vary
i popularite as the years go by, One of 1w most popular dogs these
days is the Germen shepherd CHCF KD This s because it provides
protecuon as well as companionship. The family should be warned
that these dogs grow up 10 be verv big, and may be too powerful for
children 1o handle. Il space 1. limited. a tov dog may be a good
choice. These dogs are very small and easy to rrain. They don't need
to be walked daily, since thes can exercise in the space available in

the home.

26. The passage is mainly about
A the care and proper selection of dogs in o family
B. diflerent breeds of dogs
C. responsibility for seeing that dogs arc properly cared for
D. different books about dogs
27. According 10 the passage, which of the following statements is
true?
ATt is proper for the parents 1o feed the dogs.
B. The parents should decide what breed of dog to buy if their

children want one.



C. The parents are to blame if the dogs are not properly looked
after.
D. The family members should attend the dogs together.
28. Tt is suggested thal one should get information about the dog
A from the ASPCA.
B. from the library.
C. by buying a dog from a store,
. by reading books about dogs including puppy training.
29. Many {amilies are fond of the German shepherd because
A. they are big and capable of attacking
B. they serve their owners as friends and guards
C. they make most people afraid
D. they are easy 10 take care of
30. According to the passage, it would be better for you to buy a toy
dog when .
A. vour children are still verv voung
B. you are not living in a big housc
C. you are too busy to walk your dog
ID. all of the above

Questions 31 to 35 are based on the following passage:

It was a chilling{% A EHH#) sight. A man was climbing
the South Tower of the World Trade Center. New Yorkers were
used to strange things, but this was too much. Traffic stopped, tele-
vision crews rushed to the scene (3% ). People forgot about their
jobs to cheer him on. For three hours, “the human fly" was New
York's newest hero. Would he succeed? The chances were against
him. But at 10:15 a. m. he climbed over the top of the building. He



had climbed 1 330 feet(411 meters)-— straight up. Who was this
man that set hearts pounding”

The new hero was George H. Willig, a toy designer from
Queens., New York. Moutnain elimbing was his hobby (dk 5 B 47 ).
He had planned this climb for over a vear. 1t was risky. But careful
planning helped to decrease the risk. He designed special equipment
for this task. He used a T-shaped metal block and a pulley {3 &)
system 10 help him go up. His method demanded much physical
strength. It 100k him about two minutes 1o climb up each floor. And
he climbed all 110 floors! It is not surprising that people admired
his nerve and courage.

When he completed his climb. police officers werc waiting for
him. The city government wanted Mr. Willig 10 pay $ 250 000 for
damages. But the public protested against treating a hero that way.
So Mr. Willig paid a fine(§15X) of $1.10.He was charged a penny

a flour. That seemed to please everyone.

31. Willig started climbing the World Trade Center .
Al at 10:05 a.m. B.at 5:00 a.m.
C.at around 7:00 a, m. D. at around 9;00 a. m.
32. Most New Yorkers .
A expected Willig to succeed
B. thought Willig's action was wrong
C. arc used to what Willig does
D, were not interested in what Willig did
33. Which of the following is NOT true about Willig’'s climb?
A It was risky.
B. It caused a tot of darage (o the building.
(. It was planned carefully.



